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	Year
	Calculation
	Numicon reference or calculation 
	Progression in recording written calculations


	Notes

	R
	
	Firm Foundation 10a, 10b, 11a, 11b
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	Children choose two tiles and decide which tile is the same introducing addition.

	1


	6+2, 6+3, 6+4,6+5,6+6 etc
	Kit 1 Calc 4A
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	Extend to adding 3,4,5 etc

First use of number lines

	1

	5+0, 8+0
	Kit 1 Calc 6A
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	Adding zero – crucial concept

	1
	1+9, 2+8,
3+7, 4+6,

5+5, 6+4,

7+3, 8+2, 9+1
	Kit 1 Calc 7B
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	Children memorise their complements to ten as part of their 55 club

	1
	4+3+6
	Kit 1 Calc 9A Adding 3 numbers using complements
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	Commutative law of addition

Children find pairs are complements to 10 before adding.

	1

	37 + ? = 40

72 + ? = 80
	Kit 1 Calc 12A
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	Adding to nearest 10 prepares the children for bridging 10.

	1
	8+5 = 13

7+8 = 15
	Kit 1 Calc 13 A Bridging 10
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	Bridging 10 < 20 to begin with.

	2
	28+5 = 33

67+8 = 75
	Kit 2 Calc 7

Bridging 10
	[image: image10.png]2 *3 +3 45
;\/\ 3/\

pX
23 30 3 671 70 15
29%+5:-33 674+8-75




	Use apparatus including Numicon and Numicon IWB software to model

	2
	47+34 = 81
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	Bridging numbers approaching 100

	2
	86+38 = 124
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	Exceeding 100

Children now need to move to column methods

	3
	86+38

362+168
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	Add the numbers mentally starting with largest number

E.g.

400 + 120 + 8

=  520 + 8

=  528

	
	372+168


	Expanded column method

Contracted column method
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	Always start with the units first
Once children understand idea of carrying then move onto compact method
Carrying always below the answer box

	4
	3638+4542

1202 + 45 + 367
	Contracted column method
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	Introduce numbers with different numbers of digits.

Add three or more numbers in columns.

	5
	78793+53628

53+3.12+2034


	Contracted column method
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	Extending to adding 5 digit numbers

Then six and digit numbers

Adding numbers with different numbers of digits and decimal places

	6
	
	
	No new content in year 6 for addition
	


